AE

Goié:ég,n //c&/&gc“ﬁ_

361 Quiz 4 9-12-2009

| |
Pl
s } codecrlete.  the  Hrbness
L b > on) to  prevent sudblen  frechore
VT
p

&
/%\);f'hngum Ct/{o_ﬂ HMie = b4 MPAIm

\a(.(:. 60 ynm

o | 10 1S
P B0 /</{/ A/
N12,5 Sy = 49 MR

Ar = Kre. = b6 MB. = 26,4
N 2.5

Lr =G 0V ® e — 1,00 . . V&, Iclo" >

6&[( ke 26,4
02 .V, el

@I = /511,92 Mi%\
P lOalf, 2w. £
160 AN = 153,92 M . (120 x1&7 ), &

£ o do. 0" +
/53 92x 70°, 110 x0™~ |

t = 666 2o m
€ = &Jé mm,



dcoker
Typewritten Text
AE 361     Quiz 4 					9-12-2009


AT U3 UOshoez)
J/\ic: ngg‘ \’-5\ m




Tor  reash |
P
=K

(;jg@jizrr* |

= ‘
i ggR\ZQQ' L'L?_S

Shol
ler vole ‘5@“0-’"'\%

@:xmﬂggtlgk




	020
	021
	022



